

RESOLUTION 07-2023

OF THE VILLAGE OF ASHVILLE



A RESOLUTION AUTHORIZING THE 2023 PAVING AND CRACK-SEAL PROJECTS.

WHEREAS, the Village Council is responsible for the allocation of funds for major street projects; and WHEREAS, the Village of Ashville has a plan to systematically repave and crack-seal roadways in the Village of Ashville; and

WHEREAS, the Exhibit designates the roadways that will be repaved and crack-sealed; and WHEREAS, the Village of Ashville wishes to do improve the Service Department services for the Village of Ashville.

NOW, AND HEREAFTER BE IT RESOLVED BY THE VILLAGE COUNCIL, VILLAGE OF ASHVILLE, PICKAWAY COUNTY, STATE OF OHIO THAT:

SECTION ONE

The Village of Ashville will pay to the selected contractors for engineering design and construction between the below funds:

Project Name	Fund Description	Fund Number	Amount
Randolph Street	Motor Vehicle	2101-640-396-5000	\$190,000.00
Randolph Street	Water	5101-533-590-0000	\$ 70,000.00
Randolph Street	Stormwater Capital Outlay	5704-800-590-0000	\$ 73,376.00
Crack-seal	Street Capital Outlay	2011-620-590-0000	\$ 49,250.00
Paving	Highway Capital Outlay	2021-650-590-0000	\$ 15,000.00
Paving	Street Capital Outlay	2011-620-590-0000	\$ 75,000.00
		Total	\$472,626.00

SECTION TWO

Once Tebbe Civil Engineering has submitted a design plan the Randolph Street, Water, and Stormwater Project will be sent through a project bidding process.

American Pavements, Inc. will be contracted to complete two projects involving crack-seal designated areas unless bidding required.

Roese Bros. Paving Inc. will be contracted to pave the designate roadway areas unless bidding required. Therefore, this resolution will take effect at the earliest time allowed by law.

Offered by: Roger L. Clark
Seconded to the Motion Offered by: Matt Scholl

Upon roll call on the adoption of the resolution, the vote was as follow:

Council Member Yes No Roger L. Clark \boxtimes \square Colton Henson \boxtimes \square Randy S. Loveless \boxtimes \square R. David Rainey \boxtimes \square Matt Scholl \boxtimes \square Steve Welsh \boxtimes \square ADOPTED THIS 17^{TH} DAY OF APRIL, 2023

EFFECTIVE AT THE EARLIEST TIME ALLOWED BY LAW

April D. Grube, Clerk-Fiscal Officer

APPROVED:

April D. Grube, Clerk-Fiscal Officer

Nelson'R. Embrey II, Mayor

Prepared: 03/28/2023 ¹/

Revised Date: Review Date:

1 of 4 | Page Exhibit A

I, the undersigned, hereby certify, that the foregoing is a true and correct copy of the resolution adopted by the Village of Ashville Council held on 17 th
day of April 2023, and that I am duly authorized to execute this certificate.

CERTIFICATE OF RECORDING OFFICER

day of April 2023, and that I am duly authorized to execute this certificate.

Clerk-Fiscal Officer
(Original signature of April D. Grube)

(TITLE)

TEBBE CIVIL ENGINEERING, LLC ASHVILLE STREET PAVING 2021 ~ RANDOLPH STREET VILLAGE OF ASHVILLE, OHIO

MARCH 22, 2021
Project No. 1000
Calculated by: MJM Checked By: CMT

ITEM#	QUANTITY	UNIT	DESCRIPTION	UNIT PRICE	COST
			STREET		
201	1	LS	CLEARING AND GRUBBING	\$ 1,000.00	\$ 1,000.00
204	3095	SY	SUBGRADE COMPACTION	\$ 2.00	\$ 6,190.00
207	1	LS	EROSION CONTROL	\$ 5,000.00	\$ 5,000.00
252	1088	CY	FULL DEPTH PAVEMENT REMOVAL (UP TO 18")	\$ 25.00	\$ 27,200.00
304	516	CY	AGGREGATE BASE	\$ 45.00	\$ 23,220.00
441	129	CY	ASPHALT CONCRETE, SURFACE COURSE	\$ 150.00	\$ 19,350.00
441	129	CY	ASPHALT CONCRETE, INTERMEDIATE COURSE	S 150.00	\$ 19,350,00
407	155	GAL	TACK COAT	\$ 5.00	\$ 775.00
605	950	LF	4" PIPE UNDERDRAIN	\$ 5.00	\$ 4,750.00
808	- 8	EA	CURB RAMPS	\$ 650.00	\$ 5,200.00
608	3300	SF	4' CONCRETE SIDEWALK	\$ 10.00	\$ 33,000.00
609	830	LF	STRAIGHT 18" CURB	\$ 20.00	\$ 16,600.00
614	1	LS	MAINTENANCE OF TRAFFIC	\$ 1,500.00	\$ 1,500.00
624	1	LS	MOBILIZATION	\$ 2,500.00	\$ 2,500.00
			WATER		
	983	LF	8" C-900 WATER PIPE& FITTINGS	\$ 50.00	\$ 49,150.00
	4	EA	8" WATER VALVE AND APPURTENANCES	\$ 300.00	\$ 1,200.00
	3	EA	FIRE HYDRANT TYPE "A"	\$ 1,200.00	\$ 3,600.00
603			STORM		
503	1	LS	DITCH AND STORM FACILITIES	\$ 25,000,00	\$ 25,000.00
				TOTAL	\$ 244,585.00

2023 Update Total \$333,376



January 13th, 2023

Village of Ashville 200 Station Street East Ashville, OH 43103

Attention: Greg Sturgill RE: Village of Ashville - Crack Scal

I am pleased to submit this quotation for your consideration and signature for the application of Crack Scal. Type II for cracks $1/4^{\circ}$ - 1° in accordance with ODO1 Spec 423:



Page 1 of 1

2023 Ashville Street Projects

4/3/202312:34 PM

Street Name	From	То	Account Number	Cost
Crack Sealing Sti	reets			
Collings Drive	Pavement Change at HN 60	Ashton Drive	2011-620-590-0000	\$3,250.00
Ashton Drive	Benton Drive	Long Street	2011-620-590-0000	\$8,100.00
/irginia Street	Euclid Avenue	Davidson Drive	2011-620-590-0000	\$8,500.00
Monroe Drive	Davidson Drive	Morrison Drive	2011-620-590-0000	\$4,100.00
ameson Street	Dowling Avenue	Clark Avenue	2011-620-590-0000	\$5,500.00
Winson Avenue	Long Street	Jameson Street	2011-620-590-0000	\$1,300.00
Clark Avenue	Jameson Street	Princeton Street	2011-620-590-0000	\$2,000.00
lawthorne Drive	Burroughs Drive	Pavement change at HN 43	2011-620-590-0000	\$7,500.00
Princeton Street	Dowling Avenue	Clark Avenue	2011-620-590-0000	\$5,000.00
		Subtotal	2011-620-590-0000	\$45,250.00
		Mobilization	2011-620-590-0000	\$4,000.00
		Crack Sealing Total	2011-620-590-0000	\$49,250.00

\$4,000.00 [Folgl: \$76,100.00

** Continued on next page **

- Pricing shall be firm for 30 days and is based on the work being scheduled with other work in the area.
- Typical eleming by compressed air is included. Any excessive dirt or mixt to be cleaned by others.
- No striping is included in this proposal, placement or removal.
- Neither bond nor prevailing wages are included in this proposal.
- No item of work to be omitted without written agreement by American Pavements, Inc.
- Payment due not 30 days from completion of work.
- American Pavements will not 'paint' with crack scalant, pavement that is alligatored (tightly spaced cracking indicating pavement or base failure).
- Previously scaled joints that have re-opened will be reseated; sealed joints that remain closed will not be reseated.
- One mobilization of all equipment is included, it would be \$4,000 Lump Sum.

Please feel free to contact Ted Ciminillo at (614) 425-2031, with any questions or concerns related to this Pr

Sincerely,

Al Wieging

Al Wieging | Columbus Division Manager | Scodeller Construction, Inc.
7475 Montgomery Drive, Plain City, OH 43064
aw@scodeller.com Cell (614) 542-9288 | ((614) 873-2191
17 Fax (614) 873-5850

Mobilization charge of all equipment and setup:

Paving Streets				
Griggs	Cromley Street	Lexington Avenue	2011-620-590-0000	\$35,000.00
Glenn Road	Viking Way	Powell Street	2011-620-590-0000	\$40,000.00
Long Street West	South Street	Hall Street	2021-650-590-0000	\$15,000.00
			2011-620-590-0000	\$90,000.00
Randolph Stree	t			
Motor Vehicle			2101-640-396-5000	\$190,000.00
Water			5101-533-590-0000	\$70,000.00
Stormwater			5704-800-590-0000	\$73,376.00
		Subtotal		\$333,376.00
		Street Subtotal		\$329,250.00
		Other Subtotal		\$143,376.00
		Grand Total		\$472,626.00